(BAX - AKX - FXR)

AR

(‘FRR30FE)

1[E8
£1HE H30.76(%)
BRAOEIENC A (FEX)
RS Hh X ik A B Z aE 2 (kg)
1 BAREREEE 10:15 95.83
2 AREEEE 10:15 102.85
3 BERLFEEE 10:15 9.55
&t 208.23
$£2HHE H30.7.9(H)
BRAOH B AT X)
S #h X kA B Z BE 2 (kg)
1 BAREREEE 10:10 227.94
3 AREEEE 10:10 126.44
3 7R EEE 10:10 106.34
&t 460.72
$£3HAE H30.7.10(X)
BBEAKETSAFII(HER)
B2 #h X A BEZI BE = (kg)
1 BREREE 10:05 45.09
2 ARSEEE 10:05 23.23
3 R EEE 10:05 21.23
&t 89.55
$F4HE H30.7.11(K)
BAHBBRX)
B2 Hh X A BEZI BES (kg)
1 FEE=E 10:00 35.94
2 =EBEE 10:00 37.16
3 HEEE 10:00 21.58
&t 94.68
FE5HE H30.7.12(K)
RO BT A(FEX)
B2 Hh X A BEZI BES (kg)
1 BAXREREE 10:13 154.20
3 EREEBIEE 10:13 77.61
3 Rt E 10:13 69.14
&t 300.95
¥£6HE H30.7.13(%)
BaaEISAFvI(BERR), #HHA(FEX)
B2 Hh X A BEZI aE 2 (kg)
1 HERFREEE 9:45 36.31
2 HAERERBIE 9:45 21.25
3 HAERLREE 9:45 14.68
4 BREEEE 10:15 55.14
5 AREEEE 10:15 37.95
6 X L EIEE 10:15 43.26
it 208.59

<RHfK 2 >



%E7HH H30.7.18(K)

ROV A BERR)
S #h X ik A B Z BE= (kg)
1 HERFRIEE 10:00 114.19
2 HEREEBEE 10:00 33.14
3 HAERLREE 10:00 13.02
= 160.35
¥8HHE H30.7.19(K)
RO B HERRX)
S #h X kA B Z BES (ke)
1 HERFREE 10:05 219.40
2 HERSBEEE 10:05 130.53
3 HERLREE 10:05 75.62
it 42555
FIHE H30.7.20(%)
BE-EERX)
B2 #h X A BEZI BE = (kg)
1 BREREE 10:00 278.27
2 ARSEEE 10:00 0.28
3 R EEE
&t 278.55
FIHHE H30.7.20(%)
EECH
B2 #h X A BEZI BE = (kg)
1 RT IV HREE 10:30 315.74
3 J e 11:00 218.33
it 534.07
$£10A B H30.7.23(A)
RO BHSHEFRX)
[EES #h X i A B Z WE= (kg)
1 HERFREE 9:35 179.09
2 HEREBEE 9:35 51.28
3 HAERLREE 9:35 44.49
it 274.86
F11HHE H30.7.24(X)
VA F-RyMBEARK)
RS #hX R A B X wE 2 (kg)
1 HERFREE 9:40 43.81
2 HEREBEE 9:40 18.41
3 HAERLREE 9:40 16.49
il 78.71
F11HHE H30.7.24(X)
FECH
RS #hX A BFZ wE 2 (kg)
1 BmEEE 10:30 348.06
3 BIE 10:40 89.62
it 437.68




F12AH H30.7.25(K)
VA F-RyMAR)

S #h X ik A B Z aE 2 (kg)
1 BREREEE 10:30 63.05
2 AREEEE 10:30 31.27
3 X L EIEE 10:30 29.24
it 123.56
$£12HE H30.7.25(K)
E2ECH
S #h X kA B Z BE 2 (kg)
1 INFE-ENSEE 9:00 277.64
2 REBIE 11:00 324.53
3 ZNDith 10:00 85.57
it 687.74
%13HE H30.8.1(K)
BE-EEERX)
B2 #h X A BEZI BE = (kg)
1 FREE 9:45 171.60
2 =SREE 9:45 99.23
3 HEMEFE
&t 270.83
2 [EH

F1HHE H30.10.26 (£)

ROELNCHFAER)-BRBEAETSIRFVI(BERX)

& #h X PRARFZ E = (kg)
1 BXFEEE 10:15 107.97
2 AREREEE 10:15 39.99
3 AR LREE 10:15 17.37
4 HERFEEE 10:20 11.55
5 HEREEBEE 10:20 30.30
6 HERLREE 10:20 14.41
it 221.59
¥F2HHEH H3011.12(8)
BRSO B AFEX)
JIEEES #h X R A B X wE = (kg)
1 AREREE 10:25 171.77
3 AREEEE 10:25 114.43
3 AR LR E 10:25 63.14
il 349.34
$E3AHE H3011.14(5K)
VA F-RyMARK)
JIEEES #h X A BFZ E= (kg)
1 AREREE 10:30 52.22
2 AREEEE 10:30 21.73
3 AR LREE 10:30 27.89

101.84




%E3HHE H3011.14(K)

B2ECH
S #h X ik A B Z aE 2 (kg)
1 AT IL-HrEE 9:50 217.78
2 BmaliEE 10:00 322.98
3 Z Dt 9:15 138.72
it 679.48
¥4HHE H30.11.15(K)
BRAOH B AFEX)
S #h X kA B Z BE 2 (kg)
1 BAXREREEE 10:15 162.34
3 AREEEE 10:15 57.41
3 BERLFEEE 10:15 61.33
&t 281.08
¥5HHE H30.11.19(H)
RO B H(ERRX)
B2 #h X A BEZI BE = (kg)
1 HERFREEE 10:00 217.28
2 HERSEEE 10:00 107.30
3 HERLREE 10:00 56.96
&t 381.54
FE6HE H3011.21(K)
BE-EEERX)
B2 #h X A BEZI BE = (kg)
1 FREE 10:00 149.71
2 =SREE 10:00 8.70
3 HEEE
&t 158.41
¥EIHB H30.11.27 ()
BRBARTSAFII(AER)
B2 #h X A BEZI aEE (kg)
1 AREREE 10:20 4487
2 AR S EEE 10:20 18.47
3 Rt EEE 10:20 18.94
&t 82.28
%8HHE H30.11.28(K)
HAABERX)
B2 Hh X PRARFZI BEE (kg)
1 FEE=E 9:45 32.31
2 =ERBEE 9:45 29.61
3 HEEE 9:45 55.05
H 116.97




FIHHE H30.11/29(K)

RO B HERRX)
63 #h X ik A B Z BE= (kg)
1 HERFRIEE 9:45 161.84
2 HEREEBEE 9:45 57.60
3 HAERLREE 9:45 43.39
it 262.83
%10 B H30.11.30(&)
MAHFEX)
63 #h X kA B Z BES (ke)
4 BAXREREEE 10:30 59.89
5 AREEEE 10:30 53.48
6 BERLFEEE 10:30 22.55
Bt 135.92
%10 B H30.11.30(&)
E2ECH
B2 #h X PRARFZ BE = (kg)
1 il 9:20 342.69
2 EXTn 9:20 304.19
it 646.88
F11HHE H3012.4(K)
VA -TF-RyMBEARX)
B2 #h X i A B Z HBES (ke)
1 HERFREE 9:40 29.43
2 HEREBEE 9:40 15.18
3 HAERLREE 9:40 18.14
it 62.75
F11HHE H30.124(X)
FETH
B2 #h X i A B Z WE= (kg)
1 INGE-EHIFEE 10:35 115.10
2 BBElE 10:30 199.79
&t 314.89
$£12HHE H30.12.5(K)
ROV HERR)
B2 Hh X PRARFZI BEE (kg)
1 BERXFEEE 9:45 55.83
2 HEREEEE 9:45 60.50
3 HERLREE 9:45 30.49
&t 146.82
%£130H H30.12.7(%)
BHE-EAER)
B2 Hh X PRARFZI BES (kg)
1 BAXREREE 10:30 145.13

2 AXEEEE

3 ARHAREEE

145.13




3[EH

®F1HB H31.1.25(2)

RO A(FERX)
565 X A B Z aE & (kg)
1 BARXEREE 11:30 55.07
2 AREEEE 11:30 16.78
3 78X E 1 E 11:30 8.45
it 80.30
¥£1HHE H31.1.25(%)
EECH
[EES #h X A B Z aE: &2 (kg)
1 f 11:00 231.72
2 EX i 10:45 74.28
&t 306.00
$£2HHE H31.1.28(H)
BRAOH B A(FEX)
B2 #h X A BEZI BE = (kg)
1 BREREE 10:40 170.75
3 ARSEEE 10:40 93.80
3 7R EEE 10:40 78.13
&t 342.68
$£3HHE H31.1.30(K)
VA RyMARX)
B2 #h X A BEZI BE = (kg)
1 AREREE 10:10 42.88
2 AR S EEE 10:10 17.69
3 Rt EEE 10:10 25.54
&t 86.11
¥E3HHE H31.1.30(K)
EECH
B2 Hh X A BEZI BES (kg)
1 T IV HREE 9:00 198.82
2 BmEEE 9:00 199.03
3 ZD1th 10:15 252.85
&t 650.70
%40 H H31.1.31(K)
RO B HERRX)
B2 Hh X PRARFZI aE 2 (kg)
1 HERFREEE 10:00 129.07
2 HAERERBIE 10:00 62.50
3 HERLREE 10:00 95.62
H 287.19




FE5HHE H31.21(%)

BRAKTSAFII(HER)
I X | ARZ | REE (ke
4 HERFREEE 10:10 39.80
5 HEREEEE 10:10 22.44
6 HERLREE 10:10 15.62
it 77.86
¥£6HHE H31.2/4(A)
RO EHSHEFRX)
B2 #h X A B Z BEE (kg)
1 HERFREE 9:40 222.75
2 HEREEEE 9:40 114.17
3 HAERLREE 9:40 68.52
it 405.44
$£7HHE H31.25(4)
BRAKETIAFYIFER)
B2 #h X i A B Z HBES (ke)
1 BAXFEEE 10:45 40.15
2 AREEEE 10:45 16.25
3 78 X 4 [FE E 10:45 15.11
it 71.51
%£8HHE H31.2.6(K)
ROV A EERR)
B2 #h X i A B Z HBES (ke)
1 HERFREE 10:00 76.39
2 HEREBEE 10:00 37.31
3 HAERLREE 10:00 30.17
it 143.87
FIHHE H31.2.7(XK)
BRSO B AFEX)
B2 #h X i A B2 WE= (kg)
1 BAXFEEE 11:00 133.43
3 AREEEE 11:00 76.91
3 76 Xt [FE E 11:00 38.07
il 248 41
F10HE H312.12(K)
VA F-RyMBEARK)
JIEEES #h X R A B X wE 2 (kg)
1 HERFREE 9:45 41.85
2 HEREBEE 9:45 14.69
3 HAERXREEE 9:45 28.81
L 85.35




10 B H31.2.12()
B2ECH
63 #h X ik A B Z BE= (kg)
1 INTE-EIFRE 9:55 234.54
2 BRBIE 10:00 173.24
it 407.78
$F11HHE H31.2.13(K)
HAABERX)
B2 #h X A B Z BEE (kg)
1 FEE=E 10:00 47.76
2 =BEE 10:00 40.58
3 HEEE 10:00 34.30
it 122.64
$£128HB H31.2.15(&)
HMNAH(FERX)
B2 #h X A B Z BEE (kg)
4 BAXFEEE 10:20 38.51
5 AR EEEE 10:20 32.94
6 78 X 4 [FE E 10:20 15.53
i 86.98




